8519

2300

8519

6400

5400

3800

2300

CONNECTION BOLT Qry
A22-3 BSK24075 04-22
A32-1 BSK20075 22-22
BSK = DIN 6914 / 24075 = M 24 x 75

— —7F 8519
p B
Ress A = T T B4
J \("“.. ———
N . o - f 3 CRANE SPAN : 14640 A B | P o| T T
s -
* §>: ~ — éJ 985 -ZS- o
(=] x A
E é 9é < K
Lo T e
- 28 28 =
] o g 3 §§ . T 3800
3 |5 <8 e 8 x| |3
[~ ] S @
ol ™ o~ 8 8 wi o o]
=} % ,_J 3 3 o Nl o
5 g B 2 S 3
g 8 % B 2300
: . &
o
S S
O 0
XA111-1 r XA111-1
{ 650) 650) ﬁ' 0
® 1w
w
2 3 g 3 254 : % g 3 2
& o & | 254 2 5T 2
g X s 8500 5 5
z 8500 z G
ll
| 17000 |
- 7
L 17000 L
1 g
OUT-OUT OF STEEL
AXIS:5+6
(SCALE:1/100)
CONNECTION BOLT Qry
A22-1 BSK24075 04-22
A22.2 BSK20055 02-20
A32-1 BSK20075 22-22
A611-1 BSK20055 02-20
BSK = DIN 6914 / 24075 = M 24 x 75
— K ses19
B pY
xm 3 N : *x ) 6400
* % ¥ RV s CRA ) = £°
- ® — T F,,_\F.. NE SPAN : 14640 © " © K K
é I x pos T 5400
N QX% © %- = [ b3
i v g
Ll gy -
: 1 83 =
5 x 2 -] o% e g o gg??
a| 218 o 0 ] 8 w o~ * 3
® Q x 2 8 * < Slo| &
« S Ko Ao x| lowo|[lo|d| @
8 un 3 ol w b N
(=]
~ . g B . T
2300
g
] = s
k % QO (@)
764 © XA1114 b
" XA111-1
8 (650) 650) 3 0
0w
Z 0 w l 8 2
23583 | 153
z 32 S 2 254 3z 32
e & ! T OEog
a Z 8500 L 8500 > 5 o
J z
) 17000 |
| K
| 17000 |
A
L
OUT-OUT OF STEEL
(SCALE:1/100)

A32-1: BOLTS M20 , Quality 10.9

All welds : a=4.5mm

Al stiffeners triangle 200*90*9, Unless noted different
Steel quality 8355, Unless noted different
All welds single, Unless noted different

& as00
£ X A 2883
T 2300
~ . fRl13| 2
3 & 2171818\ 8| T 13w
(@] —
| A114-1
= 200) 8‘0
w 0
| g . 8 2
3830
] 254 u.;"‘-ﬁ
- E
3000 z kX 3
I 3000 |
ol 7
3000

OUT-OUT OF STEEL

O

l
®

24930
100.00
XRA451-1 .}
SN ¥ (200) , ""“‘Z
E Y r__,(200) % % oy % % 3
[y
] ~ g|B| &
< =
2178 P BBy T
£ g -
x2|]|© Ol x4
(200) 200) g
4 w w 8 2
§ g g 150 254 % g § 2
ETa 4 =" kg
5% 3000 5 55
| 3000 |
7 o
3000 L
ﬁl
OUT-OUT OF STEEL
AXIS : 3
(SCALE:1/100)
FRAME AXIS: 34
CONNECTION TYPE : A32-1
180°20.0
RYL-... RYL-...
180°7.0 ;L\ 180°7.0 &
+"+ 8]
HE o [
8
«t
H..
t=5.0 M t=5.0 + R
\-— 60
L] +"+ —w‘i—“k
180°6.0 180"6.0

HV BOLTS:

‘—Q RYL-...
ML=
= +H+ | —+
MoS2 lubricate and ~J- = =
if 6.0 —
prestress as follows g
- i~
i S +H+ | —
- M20 mlt 450 Nm ! +]+ ___,g
- — = t
- M24 mit 800 Nm Lol
; __6_5“__1
2000 Frame Axis: AXIS % ’
2883 Connection: Typ XR451-NUMBER O
2300 A22-1: BOLTS M24 , Quaiity 10.9
All welds : a=4 5mm
Ali stiffeners triangle 200909, Unless noted different
1300 2x 70°8 Steel quality $355, Uniess noted different
1506 Al welds single, Unless noted different
0 i
FRAME AXIS: 56
CONNECTION TYPE : A22-3
180°7.0
RYL-...
]+ | —24
e 2w ++ | —
Tb t=6.0
1606 g
A
+s '"/ + -
« +1+ EI +i+ —--ag -
O am & -
0 ( 180°8.0 —
W e s [ o N
200°20.0
=6.0
XRA451-1: BOLTS M20 , Quality 10.9 mp__/ ” 200°16.0
All welds : a=4.5mm
Steel quality S355, Unless noted different H
All weilds single, Unless noled different n-_ | 650 l
>...
O
A22-3: BOLTS M24 , Quality 10.9
All welds : 8=4.5mm
All stiffeners triangle 200909, Unless noted different
Steel quality S355, Uniess noted different
FRAME AXIS: 34 All welds single, Unless noted different ‘
CONNECTION TYPE : A23-1
150°6.0
1506.0 RYL“F
\ ;ﬂég L
t=4.0 3 el N I N l / AN l Lvr
m 75
/‘ it o[ ($+0) LF... (1+1) LF... (2+0) LF... (242)LF...
] Ref : W17 Ref . W112
I / : ;150'6.0
150°6.0 J@_l STD PROFILES DESCRIPTION LIST NSTD PROFILES DESCRIPTION LIST
1=4.0 LF-: FLANGE BRACING 50*50*3.2
150%6.0 / m\ 150*6.0
]/ TECHNICAL NOTES
200 rawings to read in conjunction with ASTRON technical manual

CYP-G

A23-1: BOLTS M20 , Quality 10.9
All welds : a=4.5mm

All stiffeners triangle 200°90"9, Unless noted different

Steel quality S355, Unless noted different
All welds single, Unless noted different

FRAME AXIS: 14
CONNECTION TYPE : A22-1

200"16.0

FRAME AXIS: 4
CONNECTION TYPE : AB611-1

150*6.0

ft

200°7.0
20010.0

AB811-1: BOLTS M20 , Quality 10.9

Al weids : a~=4.5mm

All stiffeners trinngle 200°90*8, Unless nated different
Steel quelity S355, Unless noted different

Al welds single, Unless noted different

CYP-...

«/- SP... t=6.0

"~ 200°12.0

1.D
2. All measures in millimeters
3. * = Field adapted
4. Design of foundations by local engineer
5. Applicable column reactions see chart "Foundation Reactions"
6. Purlin spacings are rounded to mm and cannot be added
7. Flange bracings installation per standard detail W1 chapter
8. Field locate roof openings and accessories
9. Compensation of panel tolerance currently during installation
10. Unless noted differently :
1) Purlin diaphragms - At peak (see W316, W326, W327)
- Double purlins (see W311, W321)
2) Wind bracing details, see chapter W2
3) Roof stabilisation if necessary :
- Purlin spacers (HSA, HSB, HSC, HSD. SEE W37 AND W38)
- Sag rods (RSG,...) see W6 and cross section
- Tie straps (HC 250) see W7 chapter
11. Field cut and adapt girts and panels shown in overlap with an
accessory element

K.Rafnsson Taknipjonusta
Klapparstig 26 » 101 Reykjavik
Kt. 22€850-2189

LT s

et
Sdasmarfiardal s

i b T Gﬁ?ail}d § %
DYUSrE L

This design is the property of ASTRON BUILDINGS, a Division of
Parker Hannifin.

Copying and manufacturing components according to these
drawings or calculations is illegal.

DET: A121 A2 A32 A611 W12 Wi17 XAt1H

TRANSMITTALS
PROJ: _ Berghella MHL-Z - Hafmarfordur lceland BID: _Stalex
BUILDING,  AZM1 24.9% SPAN:17.000m EH5400m L:58.50m ALT: 108560
LOADS:  LLMUAddL : 1001160720 (DaNm2) CRANE: _ 60kN
CS3
NORMS: PRIM._IST SEC. DS | | MENOL-11h33
DATE: 050402
FRAME SECTIONAXIS 46 rammAR-LINUR 4-6 ENG.. _W. Atmann
DRAF: K. Qlsson
REV. A.:additional purlin axis 3 N
REV.B. cross section axis 3' added, detail added, wing unit changed  25.06.2002 J.
ASTRON REV. C.: Puriin in canopy reversed, Flange thickness axis 4, Stiffner for crane axis 4

[ ASTRON BULDINGS SA.- P.0/Boxte2 - L3202 DIEKIRCH UXEMBOURG - Tek+362 80 29 11 -Fax+ 352 B0 4 6




